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<(30,000+ 50,000+ 40,000)

a4 B Machine A= 3 —~ =340,000

: X (20,0004 80,000 4
or Machine B = 0000 _ ¢ 46,667

(Initial Cost + Installation Expenses — Salvage Value)
2

+ Salvage Value + Additional Net Working Capital

Average Investment =

For Machine A = (X 1,00,000 - 0)

+ 0 =% 50,000

For Machine B = & 1'00'2?00 =9 4+ 0=250,000

Therefore, ARR —

For Machine A = —;% % 100 = 80%

346,667
50,000

For Machine B = % 100 = 93-33% (approximately)

| 'Determine the average rate of return from the following data of two machines A and B :

.- [ Machine A | Machine B
Cost ﬁ(?) | e 56,125 56,125
Annual estimated income after

depreciation and income tax ) :
Ist year 3,375 11,375
IInd year 5,375 9,375
IlIrd year 2375 7,375
IVth year 9,375 5,375
Vth year 11,375 3,375
6875 | 36375
! Esﬁﬂlﬁt&d life in years" 3 5
Addjtional investment in net working capital (%) 4,000 5,000
| Estimateq salvage Value ) 3,000 3,000
Ave’age income-tax rate (%) : 35 35
f_ Dep\redatbn has been charged on straight line basis.

[C.S. Final, Adapted]
[Delhi University, M. Com., Adapted]
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